Name:___________________________________
Date: __________________ Pd.: ________

Unit #1 Test – Continued… (Part 2)
NO CALCULATORS!
i. 25km = ____m
ii. 12mm = _____km
iii. 34cm = _____mm
iv. Convert into Scientific Notation:   45,000,000  = _________________________

v. Convert into Scientific Notation:   0.36  = _________________________
vi. Convert back into regular form:  0.75x105  = _________________________
vii. Convert back into regular form:  268 x 10-6  = _________________________
viii.  (2.5 x 104) + (7.4 x 104) = _________________________
ix. (2.4 x 102) x (1 x 103) = _________________________
Go to the back side…

---------------------------------------------------------------------------------------------------------------------------------------


x. Draw an age diagram graph showing… 
0-14 (males = 29%) (females = 20%)

15-24 (males = 10%) (females = 10%)

25-54 (males = 15%) (females = 15%)

55-64 (males = 2.5%) (females = 2.5%)

65+    (males = 2.5%) (females = 2.5%)

xi. Using the age diagram graph
a. Is this most likely an emerging or developed country?
b. Explain your reasoning. (Be specific)
xii. What similar characteristics do emerging countries have?  List three. 

a. Explain your rational for your answer above.
